B2 (2-1) 3 =
EAE AR DE
BRAMR GUBKE011) ZH: s -
#HiZeE g A <F 65 98 4H
A OB 2 67205
= 120507 WMER A 40 548 98 9H
MO i | RS EEEMEE AT A
X Y Zs
m m

EREERUVES

m
B
< | T.P. 446.359 </

7 1
-29123. 969 -66754.530 < |(A.P.)
MERDBH A | A BB
-] r " m
A RONE ] EEER 1| R A& H E
B
E RS
5 E s &

Ik |

|RIERL] PRAEVI=T BN i

oo B ol it

Jﬁﬁiﬁmnzvn 4 pjif

GNSSHIEIZ & 5
BIREAOHEBMA L LiRtgs
FFR26E4R TR AR i
[CORBRHEG, BHbEREQRDESE

TREMEDASHREEFERALTHEZHDT
HdH, OKRES) ROEAQE2RE) |

AEFERHE =70 b4 8A 9H

fERiEA B F 64E11 8 8H

AER . 9

fEREEL : 0.999956 7

WTEEHOEE . = RTHTS




